BHN3FE B

X#FiRsZ BIER

(IRAHX]  =peigeh | MY /RKER] ( St RYXSEOE—)
2 4 F 8
=Sy =lm
800 ~ 1030 1045 ~ 1200
118108 0K) £ M Z ™M
118118 7 M £ M
[(ZZX])  =heigph : BIERSEE] (S BERs KER—IL )
2 4 58
== le
800 ~ 1030 1045 ~ 1200
118168 (W) £ M Z ™M
1181780K) g M
118188 (N 7 M £ M
118198 (&) g M
AL X]) =heigph | s EPIFm3RRIAT ( S w2E KESR—IL )
2 i F 8
=Sy =lm
700 ~ 1030 1045 ~ 1200
118 48K £ M Z ™M
118 58(&) £ M Z ™M
118248 0K) 7 ™M £ M
118258 (K 7 M
118268 ) £ M 7 ™M
[FHX]) =g RRFEUIME (S P3Im KER—IL )
2 4 58
=Sy =lm
800 ~ 1030 1045 ~ 1200
118128 (&) £ M 7 M




